Word problems (multiplication)

Qy&ﬂu& To solve the word problems of multiplication.

Instructions: Read the given word problems and solve them in your copy with
the help of the video watch and solved example.

|. There are 3 pencil jars. Each Jjour has L pencils. How many pencils are

here altogether?
there altoget er 3X|_I_=I2

2. There are 2 cars. Each car has Y tires. How many tires are there

altogethar?

3. There are W boy and each boy has 2 cupcakes. How many cupcakes are
there in total?

L. 5 boys are p|,a5i.n,9 with their toy cars. Fach boy has 2 toy cars. Total

how many toy cars are there with the bogs?

5.l girls have 2 red frocks. How many red frocks are there altogether?
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